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< 6,600
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201 Let24d] 79,540 62,440 17,100
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203 = 500,0000H 10,000
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200,000& = 34 « 12& 7,200
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Xl 88,000
& 6,600
= 15,400
02 DIZFEAAIRE E X 110,000 0 110,000
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&< 6,600
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o HESIZHA D225 ZAHH]
1,000,000 * 14! 1,000
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< Z2gkH| > 0
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203 € R F=&d| 3,000 3,000 0
03 AIEH =X 2 F XY 3,000 3,000 0
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201 et d| 560 560 0
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Xl 2,230,000
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Zgd 22 € XA 7,145,202 5,708,741 1,436,461
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307 21201 A 4,560,000 3,960,000 600,000
09 2+HAHEXS 4,560,000 3,960,000 600,000
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OATSAH2+=H HEXA 932,461 450,880 481,581
< 180,000
s 752,461
307 gl2tol & 44,200 45,880 A 1,680
09 2HAHAEXS 44,200 45,880 A 1,680
o ZANSNE S50 23S
7,750,000& = 43| 31,000
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402 RI2EX 20| ™ 883,000 400,000 483,000
< 180,000
s 703,000
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< 180,000
s 703,000
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= 23,400
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o EHAIZIX BAAY 48,000,000 * 6CH 288,000
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201 et 9| 700 700 0
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<2gsy > 0
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307 2Iz2t0| & 114,000 76,000 38,000
05 QIZt9 &2 114,000 76,000 38,000
o NEAXN0SHS SN Uy 29
28,500,000 * 4270| 114,000
=EE NEIYAIY (1008 EHAI2YH) 152,000 112,000 40,000
Xl 50,000
= 15,000
= 87,000
201 et 2,000 2,000 0
01 AP 22| H| 2,000 2,000 0
< B2 H| > 0
o SEE WNERIAY 0|23 M Z (100 Al
) 2,000,000& = 13| 2,000
307 2iz2to| A 150,000 110,000 40,000
Xl 50,000
& 15,000
= 85,000
09 2LHHEXZ 150,000 110,000 40,000
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25,000,000& * 42| 100,000
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tsns g4d3t 4,297,080 1,121,171 3,175,909
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SEHA EXE FH At 20,000 20,000 0
401 AIEHIZL 20 20,000 20,000 0
01 A& tl 20,000 20,000 0
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===l s 56,080 72,600 A 16,520
201 £B-2dH| 5,160 1,680 3,480
01 At 22/l 960 1,680 AT20
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o DEHH ALEF 2|
8,000& = 4% = 30 960
02 2324l 4,200 0 4,200
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o FAHAXHBAIAE(BIS) SKRB
350,000& = 12& 4,200
202 4l 2,920 2,920 0
01 = LH 4 Hi 2,920 2,920 0
o NsHE FRFE 20,0008 » 2F = 732 2,920
207 RO ] 30,000 50,000 A20,000
01 289 30,000 50,000 220,000
o SEHA 2BLM Y A7 B
30,000,000& * 13l 30,000
307 glz2tol & 8,000 8,000 0
02 It M AMHEE 8,000 8,000 0
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Xl 540,000
i 231,000
401 Al HIZ 2018 771,000 428,571 342,429
Xl 540,000
i 231,000
01 A& HI 771,000 425,508 345,492
o =i SSEXNIAXN =4
771,000,000& * 14l 771,000
Xl 540,000
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FUHSZNLAT MG (HLEA) 800,000 600,000 200,000
Xl 400,000
e 400,000
401 Al HI L 2 THHI 800,000 600, 000 200,000
X 400,000
s 400,000
01 A& HI 800,000 596,244 203,756
oYY FH BYFUNE ZLMY
800,000,000& * 14! 800,000
Xl 400,000
e 400,000
FXEZEINEAR 2 A (HAEDIE) 2,000,000 0 2,000,000
X 1,000,000
s 1,000,000
401 Al HI L 2 THHI 2,000,000 0 2,000,000
Xl 1,000,000
s 1,000,000
01 A& HI 2,000,000 0 2,000,000
o ZEHAHDIE FH SEFXE ZHAY
2,000,000,000& * 14 2,000,000
Xl 1,000,000
e 1,000,000
FUHSZNLATN ML (ERE) 650,000 0 650,000
Xl 240,000
s 410,000
401 A& HI L 2l 650,000 0 650,000
X 240,000
s 410,000
01 A& HI 650,000 0 650,000
o HEE F2E SEFXE gAY
477,000,000& = 14l 477,000
Xl 238,500
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0.63%) 3,000,000& = 1A 3,000
Xl 1,500
= 1,500
NS S5 61,090 17,740 43,350
NsSXHsEE dFFA 18,400 17,740 660
201 et 9| 6,280 5,620 660
01 AP 2t 2| H| 6,280 5,620 660
< dBrL2H| > 0
o USHE=ER 422 2
20,0008 x 10& = 53| 1,000
< = EHl > 0
o MSXSE 28 =4
8,0008 » 4% * 165 5,280
202 044l 6,720 6,720 0
01 2L Y| 6,720 6,720 0
o MSXUHSELR =X
20,000 * 4¥H » 84¢ 6,720
207 I & 5,400 5,400 0
02 & A 2| 5,400 5,400 0
o 2HE EXAAE A2
450,000& = 12€ 5,400
ANsSXxaes BEeHE A > 42,690 0 42,690
201 LBt Y| 42,690 0 42,690
01 AP 22| d| 21,450 0 21,450
< B2 H| > 0
o NSX SEE(YCEAN, S=2HLS)
70,0003 = 100=A 7,000
o AMASA Y HABSHWEHS DK A HME
70,0003 * 30EtA * 3= 6,300
o ANsSA A28 5iotHS B
3,000& * 1,500= 4,500
o TZIHEY 2,450
- MUSHIEND 2AB=ED
150,000 = 100 = 34 450
- 2sgEFE 173,000 = 204 * 44 1,384
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o MNEEE F¢ 10,0002 * 20& * 63| 1,200
02 2224 21,240 0 21,240
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o NS HEHE DM 2BR3
330& = 4,00001 = 123 15,840
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J| 1,200
< 15,300
s 2,311,100
wEotd AT AX & 2el 153,800 153,800 0
ASI AX L WA 153,800 153,800 0
201 Let24d] 34,800 34,800 0
02 232gl 34,800 34,800 0
<3S ZLHAM > 0
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o WSS S MEg2 RXE+
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o NSAUsS A0S RHMSA
8,000,000& * 204 16,000
o Z&S WHSAM 2,000,000 = 40 A& 8,000
o NSAE=E 28 EF3M
300,000& * 500 & 15,000
s=480 Jt2s 22| 1,218,140 872,640 345,500
= 121,000
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II2suA & |A2c 915,640 872,640 43,000
201 ¢er24l 433,440 432,240 1,200
01 At 22l 3,600 3,600 0
< LEk=ZHl > 0
o JIgs 4AB& 2¢
30,000& = 10& = 123/ 3,600
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- N2 S(SEAH) 50003 * 2,0008 *~ 12& 120,000
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01 A& Bl 302,500 0 302,500
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o HUX FRFE =
8,000& = 3¥ « 165¢ 3,960
202 o4l 5,040 5,040 0
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A FEHXNG JE2XNIAMG 1,200 1,100 100
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403 MtXISHHE =01 & 15,000 15,000 0
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